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SRP0/0 - Side A (Outer Rx, Inner Tx)

SECTION
LOF =1 LOS =1 BIP(Bl1) = 0
LINE
AIS =0 RDT =0 FEBE = 0 BIP(B2) = 0
PATH
AIS =0 RDT =0 FEBE = 16 BIP(B3) = 21
LOP = 0 NEWPTR = 0 PSE =0 NSE =0
Active Defects: None
Active Alarms: None
Alarm reporting enabled for: SLOS SLOF PLOP
Framing : SONET
Rx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16
Tx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x1l6 J0 = Ox1
Clock source : Internal
Framer loopback : None
Path trace buffer : Stable
Remote hostname : hswan-10720-3a
Remote interface: SRP1/1
Remote IP addr : 100.1.1.4
Remote side id : A
!-—- The remote interface is also Side A. !--- This must be Side B. This is a physical cabling

error. BER thresholds: SF = 10e-3 SD = 10e-6 IPS BER thresholds(B3): SF = 10e-3 SD = 10e-6 TCA
thresholds: Bl = 10e-6 B2 = 10e-6 B3 = 10e-6 SRP0/0 - Side B (Inner Rx, Outer Tx)
SECTION

IOF =1 LOS =1 BIP(B1) = 0
LINE

AIS = 0 RDT =0 FEBE = 0 BIP(B2) = 0
PATH

AIS = 0 RDT =0 FEBE = 16 BIP(B3) = 18

LOP = 0 NEWPTR = O PSE =0 NSE =0

Active Defects: None
Active Alarms: None
Alarm reporting enabled for: SLOS SLOF PLOP

Framing : SONET
Rx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16
Tx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16 J0 = Ox1
Clock source : Internal
Framer loopback : None
Path trace buffer : Stable
Remote hostname : hswan-12016-2a
Remote interface: SRP12/0
Remote IP addr : 100.1.1.5
Remote side id : B
!--- The remote interface is also Side B. !--- This must be Side A. This is a physical cabling

error. BER thresholds: SF = 10e-3 SD = 10e-6 IPS BER thresholds(B3): SF = 10e-3 SD = 10e-6 TCA
thresholds: Bl = 10e-6 B2 = 10e-6 B3 10e-6

0| B2 hswan-12410-3a= 210{|M of2f L FE = 2IELICt hswan-12410-3a0i|l HAZEEICIE F
L= OlgEt @FE EAISHK| k& LICH.

hswan-12410-3a#
%$SRP-3-RING_ID_ERROR: SRP0/0 : Rx side A, Tx side of fibeA
%$SRP-3-RING_ID_ERROR: SRP0/0 : Rx side B, Tx side of fibeB
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hswan-12016-2a#

%SRP-3-RING_ID_ERROR: SRP12/0 : Rx side B, Tx side of fibeB

hswan-10720-3a#

%$SRP-3-RING_ID_ERROR: SRP1/1 : Rx side A, Tx side of fiber originates on A

!--- Note that the error syntax 1is different

controllers srp
SRP12/0 - Side A (Outer Rx, Inner Tx)
SECTION

LOF = 0 LOS =0
LINE

AIS = 0 RDI =0
PATH

AIS = 0 RDI =0

LOP = 0 NEWPTR = O

Active Defects: None
Active Alarms: None

Alarm reporting enabled for: SLOS SLOF PLOP

Framing : SONET

Rx SONET/SDH bytes: (K1/K2) = 0/0
Tx SONET/SDH bytes: (K1/K2) = 0/0
Clock source : Internal
Framer loopback : None

Path trace buffer : Stable
Remote hostname : hswan-12008-2b
Remote interface: SRP6/0

Remote IP addr : 100.1.1.2

Remote side id : B
BER thresholds: SF = 10e-3
IPS BER thresholds (B3): SF = 10e-3
TCA thresholds: Bl = 10e-6

SRP12/0 - Side B (Inner Rx, Outer Tx)
SECTION
ILOF = 0 LOS =0

FEBE

FEBE
PSE

SD
SD
B2

S1s0

BIP(Bl) =
=0 BIP(B2) =
=0 BIP(B3) =
=0 NSE =

0 C2 = 0x1e

S1s0 = 0 C2 = 0x1l6 JO0 =

10e-6
10e-6
10e-6 B3 = 10e-6

BIP(Bl) =

0x1

0

Outer

!--- on the Cisco 10720 router. hswan-12016-2a#show



LINE

AIS = 0
PATH

AIS = 0

LOP = 0

Active Defects: None

Active Alarms:

Alarm reporting enabled for:

Framing

Rx SONET/SDH bytes:
Tx SONET/SDH bytes:

Clock source

Framer loopback

Path trace buffer
Remote hostname

Remote interface:

Remote IP addr
Remote side id

!--- The remote interface is also Side
error. BER thresholds:
thresholds: Bl = 10e-6 B2 = 10e-6 B3

SRP0/0 - Side A (Outer Rx, Inner Tx)
SECTION
LOF = 0 LOS =0
LINE
AIS =0 RDT =0
PATH
AIS =0 RDT =0
LOP = 0 NEWPTR = 0

Active Defects: None

Active Alarms:

Alarm reporting enabled for:

Framing : SONET
Rx SONET/SDH bytes: (K1/K2) = 0/0
Tx SONET/SDH bytes: (K1/K2) = 0/0
Clock source Internal
Framer loopback None
Path trace buffer Stable

Remote hostname hswan-12016-2a

Remote interface: SRP12/0

Remote IP addr 100.1.1.5

Remote side id B
BER thresholds: SF = 10e-3
IPS BER thresholds(B3): SF = 10e-3
TCA thresholds: Bl = 10e-6
SRP0/0 - Side B (Inner Rx, Outer Tx)
SECTION

LOF = 0 LOS =0
LINE

AIS =0 RDT =0
PATH

AIS =0 RDT =0

LOP = 0 NEWPTR = 0
Active Defects: None
Active Alarms: None
Alarm reporting enabled for: SLOS SLOF

None

None

RDT =0

RDT =0
NEWPTR = O

SONET

(K1/K2) 0/0
(K1/K2) = 0/0
Internal

None

Stable
hswan-12410-3a
SRP0O/0
100.1.1.1

B

SLOS SLOF

SF = 10e-3 SD

SD
SD

FEBE = 0 BIP(B2) = 0
FEBE = 0 BIP(B3) = 0
PSE =0 NSE =0
PLOP

S1s0 = 0 C2 = 0x16
S1s0 = 0 C2 = 0xl6 J0 = 0Ox1

B. !--- This must be Side A. This is a physical cabling
10e-6 IPS BER thresholds(B3): SF = 10e-3 SD = 10e-6 TCA

= 10e-6 hswan-12410-3a#show controllers srp

BIP(B1) = 0
FEBE = 0 BIP(B2) = 0
FEBE = 0 BIP(B3) = 0
PSE =0 NSE =0

SLOS SLOF PLOP

S1s0 = 0 C2 = 0x16
S1s0 = 0 C2 = 0xl6 J0 = 0Ox1

= 10e-6
= 10e-6
B2 = 10e-6 B3 = 10e-6
BIP(B1l) = 0
FEBE = 0 BIP(B2) = 0
FEBE = 0 BIP(B3) = 0
PSE =0 NSE =0
PLOP



Framing : SONET

Rx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16
Tx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x1l6 J0 = Ox1
Clock source : Internal
Framer loopback : None
Path trace buffer : Stable
Remote hostname : hswan-10720-3a
Remote interface: SRP1/1
Remote IP addr : 100.1.1.4
Remote side id : A
BER thresholds: SF = 10e-3 SD = 10e-6
IPS BER thresholds(B3): SF = 10e-3 SD = 10e-6
TCA thresholds: Bl = 10e-6 B2 = 10e-6 B3 = 10e-6
hswan-10720-3a#show controllers srp
Interface SRP1/1
Hardware is 0OC48 SRP
SRP1/1 - Side A (Outer Rx, Inner Tx)
OPTICS
Rx readout values: -6 dBm - Within specifications
SECTION
LOF = 0 LOS =0 BIP(Bl1) = 0
LINE
AIS =0 RDT =0 FEBE = 0 BIP(B2) =0
PATH
AIS =0 RDT =0 FEBE = 0 BIP(B3) =0
LOP = 0 NEWPTR = 0 PSE =0 NSE =0
Active Defects: None
Active Alarms: None
Alarm reporting enabled for: SLOS SLOF PLOP
Framing : SONET
Rx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16
Tx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16 J0 = Ox1
Clock source : Internal
Framer loopback : None
Path trace buffer : Stable
Remote hostname : hswan-12410-3a
Remote interface: SRP0/0
Remote IP addr : 100.1.1.1
Remote side id : A
!-—- The remote interface is also Side A. !--- This must be Side B. This is a physical cabling

error. BER thresholds: SF = 10e-3 SD = 10e-6 IPS BER thresholds(B3): SF = 10e-3 SD = 10e-6 TCA
thresholds: Bl = 10e-6 B2 = 10e-6 B3 = 10e-6 SRP1/1 - Side B (Inner Rx, Outer Tx) OPTICS Rx
readout values: -5 dBm - Within specifications SECTION LOF = 0 LOS = 0 BIP(B1l) = 0 LINE AIS = 0
RDI = 0 FEBE = 0 BIP(B2) = 0 PATH AIS = 0 RDI = 0 FEBE = 0 BIP(B3) 0 LOP = 0 NEWPTR = 0 PSE =
0 NSE = 0 Active Defects: None Active Alarms: None Alarm reporting enabled for: SLOS SLOF PLOP
Framing : SONET Rx SONET/SDH bytes: (K1/K2) = 0/0 S1S0 = 0 C2 = 0x16 Tx SONET/SDH bytes: (K1/K2)
= 0/0 S180 = 0 C2 = 0x16 J0 = 0x1 Clock source : Internal Framer loopback : None Path trace
buffer : Stable Remote hostname : hswan-12008-2b Remote interface: SRP6/0 Remote IP addr
100.1.1.2 Remote side id : A BER thresholds: SF = 10e-3 SD = 10e-6 IPS BER thresholds(B3): SF =
10e-3 SD = 10e-6 TCA thresholds: Bl = 10e-6 B2 = 10e-6 B3 = 10e-6
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hswan-12410-3a#show controllers srp 0/0

SRP0/0 - Side A (Outer Rx, Inner Tx) !--- Start of side A of the node. SECTION LOF = 0

LOS =0 BIP(Bl1) =0

!-—- Section counters must be zero. LINE AIS = 0 RDI =0 FEBE = 0
BIP(B2) =0

!-—- Line counters must be zero. PATH AIS = 0 RDI =0 FEBE = 0

BIP(B3) =0

!--- Path counters must be zero. LOP = 0 NEWPTR = 0 PSE =0 NSE

=0
! --- Path counters must be zero. Active Defects: None
! —— A stable link should show "None"
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Active Alarms: None
! -—- A stable link should show "None"
Alarm reporting enabled for: SLOS SLOF PLOP

Framing : SONET !/--- Framing type for this side of the node. Rx SONET/SDH bytes:
(K1/K2) = 0/0 S1S0 = 0 C2 = 0x16 Tx SONET/SDH bytes: (K1/K2) = 0/0 S1S0 = 0 C2 = 0xl1l6 J0 = Ox1
Clock source : Intermal !--- Clock source for this side of the node. Framer loopback : None !---

Shows whether the node has a software loop enabled. Path trace buffer : Stable Remote hostname :
hswan-12016-2a !--- Name of the remote node to which the SRP link is connected. Remote
interface: SRP12/0

!-—-- Remote interface to which the SRP link is connected. Remote IP addr : 100.1.1.5

!--- Remote interface to which the SRP link is connected. Remote side id : B

!--- Remote side to which the link is connected. !--- Must be the opposite to local side! BER
thresholds: SF = 10e-3 SD = 10e-6

!l -—— Number of errors 1t has to receive to cause an Alarm. IPS BER thresholds(B3): SF = 10e-3

SD = 10e-6

! -—— Number of errors it has to receive to cause an Alarm. TCA thresholds: Bl = 10e-6 B2 = 1l0e-
6 B3 = 10e-6

! -—— Number of errors 1t has to receive to cause an Alarm. SRP0/0 - Side B (Inner Rx, Outer Tx)
!--- Start of side B of the node. Same layout/output as side A. SECTION LOF = 0 LOS = 0 BIP(B1)
= 0 LINE AIS = 0 RDI = 0 FEBE = 0 BIP(B2) = 0 PATH AIS = 0 RDI = 0 FEBE = 0 BIP(B3) 0 LOP =0
NEWPTR = 0 PSE = 0 NSE = 0 Active Defects: None Active Alarms: None Alarm reporting enabled for:
SLOS SLOF PLOP Framing : SONET Rx SONET/SDH bytes: (K1/K2) = 0/0 S1S0 = 0 C2 = 0x16 Tx SONET/SDH
bytes: (K1/K2) = 0/0 8150 = 0 C2 = 0x16 J0 = 0x1 Clock source : Internal Framer loopback : None
Path trace buffer : Stable Remote hostname : hswan-10720-3a Remote interface: SRP1/1 Remote IP
addr : 100.1.1.4 Remote side id : A BER thresholds: SF = 10e-3 SD = 10e-6 IPS BER
thresholds(B3): SF = 10e-3 SD = 10e-6 TCA thresholds: Bl = 10e-6 B2 = 10e-6 B3 = 10e-6

LOF X LOS 2 F

| %= B2 LOF(Loss of Frame) 2
/-3) OO|Z 2% 0|&f2| 0 W&o 25 B K|Z|™
Mol Arkofl x| et= 4

Ey} HMHOH,U:} Al SONET AlZ 04| A
LOS(Loss of Signal) 27 7} & H“‘”°* L|Ct,
) B ELICH

Al SONET Al 01|3m30|”°| '*EFQ EE{IOI%J?;'%*O
19
LO

o
e

LS

LOF2t LOSE BE5F MM 2R O0|H, UEHO Z Telco HIERIZ 0[Sl * E OIS
SONET ElHFOV\( I8t o 2 SONET HE|ZEH M[MUX]) Ztoll EXI7F /S S LIEHLICE.

BIP(B1), BIP(B2) 5! BIP(B3) 2 &

B1,B2 L B3 2FE= OE'EWQ ClEHO|AR E0{7t= MM, B2l & A2 HIE QIEZ[E mZ|E|

°E°'LIE+ OIEM e detdo 2 23 £ Hole Fdlof 2X7t ‘BA%% LIEFHLICH 2XE
i ZA5tEd™ QIE{H o[ A0 A 6+E gz Eﬂééé TAELICH XEMIE LI 2 o] 2A2l st £
_u_I:IH E-||/\E A-IIA=|° xl- 3|'QA|9_

AIS, RDI %! FEBE 2%

SONET WIE®3 C|HtO|AT} LOF EE= LOSE B X|5tH™ C|HtO|A = CHRAEZ C|HHO|A0 22|
7| ?I3H AIS(Alarm Indication Signal) HA|X|E& M& 5t YA EZ C|HO|A 0| 22 RDI(Remote
Defect Indication) HIA|X|& M&EHLICH B2 2 B3 27 T S|P 0|28t 27 &= FBE(Far End
Block Error Path) 2 7 2 2 & L|C}.

B2 E{ A2| show controII ers srp H230{ FBE @ 77 EAIE|T 0] 213 0| HFCHE Zof i= C|H}O
A0|B2EEB3 2RI USS RFSID EIRE A EE B30 Lt 2F % LEEFLHZ| {5H 2t
S E Ao 9_%2 |-_-|'*| 21g = AsLch

FBE = RDI(Remote Defaults Indication) A2 & =4I8tCtD A EFEA| 24 QIE{H| 0|40 &



A7h 2rAbsHs 742 ObEILICH THO|H IR QIS Q7 WAE 4 AL Ste 2T HAE
£ 87t Q| 4R B LIEPALICH RHMEH LIS O 2 M2 StE RE M EAE MM F X3
AAIQ
= —_].

LOP, NEWPTR, PSE 3! NSE 27

LOP(Loss of Pointer), NEW SONET Pointer(NEWPTR), PSE(Positive Stuff Event) 2!
NSE(Negative Stuff Event) 2 ®= 23 9| &3 @F & LtEFRLICE 0|28t LRIt EAIEl=
SONET ZHe| 222 H1 L H2 HIO|EQLICH = E7t Ol23t @R E E15tH 320 &HF &
M7t Q=] gelgct @39 F =7 SHIEA FHEIRICEHE Telco SONET HIE2{3 LH2|
&z M2 Qs olzet @7 7F YME = A&t

ST ST EAE

etEo EX7F i X] & HEAEE HEYLICH Ol HIAES| MM QF A

g2 oSt &L
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StE

[e][]
-
|kl

. HAESHOF 5t HIUE S48 = lojof guct.

. BFRE{0f CHEF HM|A HBHO| QJo{oF EFLCE.

. Tx ZE L Rx ZEE HZA852{H 1} S

. IO|HH AEZIOZ QIEH|0|AE ALY E2 = U= SEEH 2471 Lo{oF & Lct.
CHS BHAE 223 AL,

1. LIHX| 2ol &de HRIE AelgL o3 n: o/3d2 ofe SLEfLck Zdm|ad o]0l Lt
HX| oM HE|X| o™ SONET FZ 7 2o OHE AES BHED 2lo| Ol EBlEE
MESHX| pt&LCh ol e ARR2 2 F2|2 0|Ssts ZE IPSTIIE FU 7I15H0| U&
LICH ATE E2[5t24™ 29| LIHX| FERE EHIAESE X0l EZ&LICH OHS HHE &=
SHAAI2.SONET RZ7t U= =E9| QIE{H|0|A ZHu[Td ol REE E0{ZLICHSONET
Bxjt e SHo| £5 2ol CH3H srp ips request forced-switch [side] BHES AlstishL|Ct
.0 & £0{SONET FZE& E9| AZ0i F24™ srp ips request forced-switch a HE& A=
gLich Je{™ BHO| ZMELICH BE2 0475 3ol YH0|H 05| Ecf=E S ™MEFLICH
EH Bt efEE B0 LHHX| 2ol QS FX| &t L EO AFMM &Y E = U&L
Ct.

CEtA 1(a) 2 (b))t SLEF HHo 2 Hlo| BiiZ o U= ==& ZollM E2lFLIct

. QIEmo|AMM 2 E E2|E LY.

. ItO|H AERIO| 3t TS Tx E

IO|HH AERM Lt2E M &2 &0olstod siie QIE{m| o|A o AFRF LHof| RI=X| &olgt

LICHZ2] BfHo| HF =™, ZAX|7|E AHE5t0q Bl o] AteFol| Z&fE W7t K| 2] B S

ZLct,

IO AERHEO| CIE

. O| QIE{m|o|A S| 23 &

. 7I2EE& X|ZLuct

9. & 20Ot 7|t FAMI2.
10. show controllers srp FHE2 A~ LFE =QIFLIC

Ct=2 show controllers srp FE 2| £230|H, AZ o
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CHE 2ol R HAEMME QE{H O|A T} up/up(FRZH)RIX| & Ql5t7| 2I3H show interface BH



S22 0|7} EQEILICH. SRPE 0|2t &2 MEE ET5K| 8o 2 2 show interface &3
¥ ¥

UEmHo|AT} BHEElE o=z &Qlx|™ QB 0o|A0AM 2FE &0l
M QRE ETstH ™M ~F1 ool MES CHA| #IELICH o[ A & &

g+ A&LICH EH oA
! o

—
7E E15tH QEH0[AE WA ELICH

IE{H| O] A 01| M 2

hswan-12008-2b#show controllers srp 1/0
SRP1/0 - Side A (Outer RX, Inner TX)

SECTION
LOF = 0 LOS =0 BIP(Bl1) = 0
LINE
AIS =0 RDT =0 FEBE = 0 BIP(B2) =0
PATH
AIS =0 RDT =0 FEBE = 0 BIP(B3) =0
LOP = 0 NEWPTR = 0 PSE =0 NSE =0
Active Defects: None
Active Alarms: None
Alarm reporting enabled for: SLOS SLOF PLOP
Framing : SONET
Rx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16
Tx SONET/SDH bytes: (K1/K2) = 0/0 S1s0 = 0 C2 = 0x16 J0 = Ox1
Clock source : Internal
Framer loopback : None

Path trace buffer : Stable

Remote hostname : hswan-12008-2b
! -——- Check that host name is matched to verify that interface is looped. Remote interface:
SRP1/0
! -—- Check that interface matches to verify that interface is looped. Remote IP addr
150.150.150.3
! -—- Check that IP address matches to verify that interface is looped. Remote side id : A
! -——- Check that remote side ID matches to verify that interface is looped. BER thresholds: SF
10e-3 SD = 10e-6 IPS BER thresholds(B3): SF = 10e-3 SD = 10e-6 TCA thresholds: Bl = 10e-6 B2
10e-6 B3 = 10e-6
HRIE 2ol A

12 FHI7F EH 2 #E AL

=

dilo]o{ 20l M Al SH&E

ol MM M= SRPE A& 36t tllolo 2 EXME SHHAE = J&LICH

SRP IPS

SRPE IPS(Intelligent Protection Switching)% AH83l04 SRP 9ol C
SRP 22 Z2i8t XAl 27 7|52 AM3B5tod Zolzt et AEQI
MoE E Zo|l22E xr%gi ST7E = UL E gt

EE 9% 2 7o EE2X WS MeH0R 2o| BE 2T SAY 4 s
A |. sho |

3 |

| A
MEXIE & = A&L w srp topology BE& 2 A&3to & 2|0 EEZX| mfZlo| ME &
= AE|=X] =elglct

hswan-12008-2b#show srp topology

Topology Map for Interface SRP6/0



Topology pkt. sent every 5 sec. (next pkt. after 1 sec.)

Last received topology pkt. 00:00:03
!--- If this value is higher than the topology packet sent value !--- (5 seconds), topology
packet drops occur somewhere on the ring. Nodes on the ring: 4 Hops (outer ring) MAC IP Address
Wrapped Name 0 0003.a09f.5700 100.1.1.2 No hswan-12008-2b 1 0001.c9ec.d300 100.1.1.5 No hswan-
12016-2a 2 0000.5032.3037 100.1.1.1 No hswan-12410-3a 3 0006.d74a.£900 100.1.1.4 No hswan-10720-
3a

ol oflof e Blofl 4702 =7} oM, & Hm| =E(hop 0)E 24 L =¢Q|LCt. 2lo| EEZZ K| mj
218 A& s Ll5tE ZE show srp topology EE 0| £230| HZ 2|} &7 HEELICH

2Bt A2 show srp topology B&0| 0| £ Otx|2t EEZX| T{ZI 0| =AIE A|Z7|E LtEFL

o

Last received topology pkt. 00:00:04

O| ME = AlZto| x| 5 2EHE|X| et &LICH M2t o] ZI2E{7F 7|2 5% o4 ZAulEl HAe E
ZZ x| ZfZ!lo| & o{El7tol| &AIE L},

& 1: srp topology-timer BE = AtE3t0{ O] EIO|HE HHEE &= JU&LIct

20| EEZX| IS 2 ASHH L E7I 45t ORI EEZX| IHZIE MESIERE L= HET}

HZE = AgLch ofH =7t A HZAE[o] U=X] & °._3P 24™ show controllers srp B3 path
trace buffer S22 & AIE35l04 =7 EE2Mo = HAZEl /™ CIHIO|AE & IELCY.

0| M40l A= show srp ips BUE M 83t0f IRE HII2|0lIE E2iEFE =

ZLIch PSSyt 2l 2 En5tK| o1 IPS HIA|X|of IDLE, SHORT AEN7F M&SE|T #JEIMEXI
srolgtLict 2 E IPS QM T IDLEOYok BHLICH CHE Atefi= SONET 230l 257}

L

Ct=2 show srp ips BH £=49| of L|C}.

hswan-12008-2b#show srp ips srp 6/0

IPS Information for Interface SRP6/0
MAC Addresses
Side A (Outer ring Rx) neighbor 0006.d74a.£900
Side B (Inner ring Rx) neighbor 0001.c9ec.d300
Node MAC address 0003.a09£.5700
IPS State
Side A not wrapped
!-—— Must be in a "not wrapped" state. Side B not wrapped !--- Must be in a "not wrapped" state.
Side A (Inner ring Tx) IPS pkt. sent every 1 sec. (next pkt. after 1 sec.) Side B (Outer ring
Tx) IPS pkt. sent every 1 sec. (next pkt. after 1 sec.) inter card bus enabled IPS WTR period is
60 sec. (timer is inactive) Node IPS State: idle !--- Must be idle. IPS Self Detected Requests
IPS Remote Requests Side A IDLE Side A IDLE !--- Side A reports good IDLE status. Side B IDLE
Side B IDLE !--- Side B reports good IDLE status. IPS messages received Side A (Outer ring Rx)
{0006.d74a.£900, IDLE, SHORT}, TTL 255 !/--- Side A receives good "IDLE,SHORT" status. Side B
(Inner ring Rx) {0001.c9ec.d300,IDLE,SHORT}, TTL 255 !--- Side B receives good "IDLE,SHORT"
status. IPS messages transmitted Side A (Outer ring Rx) {0003.a09f.5700,IDLE,SHORT}, TTL 128 !/--
- Side A transmits good "IDLE,SHORT" status. Side B (Inner ring Rx) {0003.a09f.5700,IDLE, SHORT},
TTL 128 !--- Side B transmits good "IDLE,SHORT" status.

CHES2 2 X E show srp ips B 2| o 2ILICHO{7|A B2 ATO| Ct 2 &[o] 2HE F).

hswan-12008-2b#show srp ips

IPS Information for Interface SRP1/0
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MAC Addresses

Side A (Outer ring Rx) neighbor 0003.a09f.5480

Side B (Inner ring Rx) neighbor 0048.dc8b.b300

Node MAC address 0003.a09f£.5480
IPS State

Side A not wrapped

Side B wrapped
!--- Side B is wrapped because A is down. Side A (Inner ring Tx) IPS pkt. sent every 1 sec.
(next pkt. after 1 sec.) Side B (Outer ring Tx) IPS pkt. sent every 1 sec. (next pkt. after 1
sec.) inter card bus enabled IPS WTR period is 60 sec. (timer is inactive) Node IPS State:

wrapped !--- One side is wrapped.
IPS Self Detected Requests IPS Remote Requests
Side A SF Side A IDLE
!--- Side A reports SF instead of IDLE. This indicates !--- an error condition on the ring. Side

B IDLE Side B IDLE IPS messages received Side A (Outer ring Rx) none
l--- Side A is down, and does not receive any IPS messages. Side B (Inner ring Rx)
{00b0.8e96.b4dlc,SF,LONG}, TTL 253
!--- Side B reports SF,LONG instead of IDLE,SHORT. IPS messages transmitted Side A (Outer ring
Rx) {0003.a09f.5480,SF,SHORT}, TTL 128

Side B (Inner ring Rx) {0003.a09f.5480,SF,LONG}, TTL 128

show arp @1} &7 2HIE ARP(Address Resolution Protocol) E|0|€ 0| /= X| & lgfL|Ct.

hswan-12008-2b#show arp

Protocol Address Age (min) Hardware Addr Type Interface
Internet 100.1.1.4 59 0006.d74a.£900 SRP-A SRP6/0
Internet 100.1.1.1 234 0000.5032.3037 SRP-B SRP6/0
Internet 100.1.1.2 - 0003.a09f£.5700 SRP2 SRP6/0

00b0.8e96.b4lc SRP-B SRP1/0
30 0048.dc8b.b300 SRP-B SRP1/0
Internet 150.150.150. - 0003.a09f£.5480 SRP SRP1/0
Internet 150.150.150. 30 0030.b660.6700 SRP-B SRP1/0

- SRP - SRP HH7 1(0OC12 SRP)

. SRP2 - SRP {7 2(0OC48 SRP)

. SRP-A - SRP QIE{H|0|A Q| AZO0|| QIS L E

. SPR-B - SRP QIE{H|0|A Q| BEO| HAE =
&1 SRP1/02| 2= E=2 SRP-B REYLICE Ol= ARO[ L2 EIIT] WE0 =7t QIE{H O]
A9|BERUM 2E A2 &&57| HELICEH

Internet 150.150.150.
Internet 150.150.150.

oW N

jo

SRP QIE{H|O|AE 8 ZEY =T JU&LICH O|E &lstE AR
. Pass-through 2E = QIE{H0|A Q| ¥Z oM ECfEE HMEE &= s ZRAYULICE HE S0
E{H oA #E| SMo 2 SR E|HLE ¥Z0| SRP keepaliveE =2 32 O A 5tH 7t=7t
ol && 2|m|E{7t ELict HAAR BEO| SR8 M2 0| EERto 2 WA Rt e EE|X| &f
Cte JAULIcH et =8 SESHT IPS EXI7F 5K t&LICHE EXME sidste ol M
). C+S 2 show interface B 0| MEZ £24/L|C}.

hswan-12008-2b#show interface srp 1/0
SRP1/0 is administratively down, line protocol is down
Hardware is SRP over SONET, address is 0003.a09f.5480 (bia 0003.a09f.5480)
Internet address is 150.150.150.3/24
MTU 4470 bytes, BW 622000 Kbit, DLY 100 usec, rely 255/255, load 1/255
Encapsulation SRP,
Side A: loopback not set
Side B: loopback not set
4 nodes on the ring MAC passthrough set
Side A: not wrapped IPS local: IDLE IPS remote: IDLE
Side B: not wrapped IPS local: IDLE IPS remote: IDLE



Last input 00:00:10, output 00:00:09, output hang never
Last clearing of "show interface" counters 00:00:03
Queueing strategy: fifo
Output queue 0/40, 0 drops; input queue 0/75, 0 drops
5 minute input rate 0 bits/sec, 1 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
0 packets input, 0 bytes, 0 no buffer
Received 0 broadcasts, 0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored, 0 abort
0 packets output, 0 bytes, 0 underruns
0 output errors, 0 collisions, 0 interface resets
0 output buffer failures, 0 output buffers swapped out
Side A received errors:
0 input errors, 0 CRC, 0 ignored,
0 framer runts, 0 framer giants, 0 framer aborts,
0 mac runts, 0 mac giants, 0 mac aborts
Side B received errors:
0 input errors, 0 CRC, 0 ignored,
0 framer runts, 0 framer giants, 0 framer aborts,
0 mac runts, 0 mac giants, 0 mac aborts

SRP Z&

SRP A& HA|X|of CHEF =222 Cisco 10720 Internet Router Installation and Configuration
GU|de°| Alarm Messages MM E FZ5HAAIL.

SRP C|H1

show B2 UEHSO 2 SRP A8 28 4 YELICH T2{Lt CIHIE 7ok st 4T 0| g
2 7bs A& ABEIE F 7hR| debug LI

. CIH3 srp ips

. CIH srp EEEX|
debug srp ips& At&35t0{ &2 O|S3t= IPS WZ!2 & QI LICt show srp ips Bt OtEH7HX[2
FZo| MEl= |DLE,SHORT0=|0|= gLct

CHe e =7t Al A% B & 2E0IM WIS +4IsHE T2 CIHI s ips GIULICHFS F &),
£t Q1 L =(0bk|et & F)oi| (Tx) IDLE,SHORT HIA|X|E XM ghct

*Nov 3 02:46:47.899: srp_process_ips_packet: SRP1/0, checksum 64620, ttl 255, B
! --- Receives packet from side B. *Nov 3 02:46:48.139: srp_process_ips_packet: SRP1/0, checksum

14754, ttl 255, A !--- Receives packet from side A. *Nov 3 02:46:48.403: Tx pkt node SRP1/0 side
A {IDLE, SHORT} !--- Transmits (Tx) IDLE,SHORT msg to neighbor on side A. *Nov 3 02:46:48.403:
Tx pkt node SRP1/0 side B {IDLE, SHORT} !/--- Transmits(Tx) IDLE, SHORT msg to neighbor on side B.

CHZ 2 debug srp ips BB 2| R E o ILICH 0i7|M BE2 of2fo| A2 efEELICH

*Jan 4 21:11:25.580: srp_process_ips_packet: SRP12/0,

checksum 50326, ttl 253,A

*Jan 4 21:11:26.200: Tx pkt node SRP12/0 side A {SF, LONG}

!-—- Transmits (Tx) IDLE,SHORT (error) msg to neighbor on side A. *Jan 4 21:11:26.200: Tx pkt
node SRP12/0 side B {SF, SHORT} !--- Transmits (Tx) IDLE,SHORT (error) msg to neighbor on side
B.

IE CHE debug B™2 debug srp topology2LICH CIHI= & F el EEEX| Mol 582
AlBtL|ct. = = _01IA-I node_wrapped & Ef= 1QIL|C}H

b
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CtE2 2ol 2i2o| gi= ClH srp EEE X[ E2 of LCt

*Jan 3 23:34:01.846: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000002
*Jan 3 23:34:01.846: srp_forward_topology_map_packet: SRP12/0, len 20
*Jan 3 23:34:01.846: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000003
*Jan 3 23:34:01.846: srp_forward_topology_map_packet: SRP12/0, len 20
*Jan 3 23:34:02.266: srp_send_topology map_packet: SRP12/0 on side B
- Not Wrapped

*Jan 3 23:34:02.266: srp_send_topology map_packet: SRP12/0 on side A
- Not Wrapped

*Jan 3 23:34:02.266: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000002
*Jan 3 23:34:02.266: srp_consume_topology _map_packet: SRP12/0, len 34
*Jan 3 23:34:02.266: 0, src node_wrapped 0, src mac_addr 0001.c9ec.d300 !--- If the node is not

the node_wrapped bit should be zero (0).
0000.5032.3037

wrapped,
src mac_addr

*Jan 3 23:34:02.266: 1,

src node_wrapped O,

*Jan 3 23:34:02.266: 2, src node_wrapped 0, src mac_addr 0006.d74a.£f900
*Jan 3 23:34:02.266: 3, src node_wrapped 0, src mac_addr 0003.a09f.5700
topology changed = No

*Jan 3 23:34:02.266: 0, src node_wrapped 0, src mac_addr 0001.c9ec.d300
*Jan 3 23:34:02.266: 1, src node_wrapped 0, src mac_addr 0000.5032.3037
*Jan 3 23:34:02.266: 2, src node_wrapped 0, src mac_addr 0006.d74a.£f900
*Jan 3 23:34:02.266: 3, src node_wrapped 0, src mac_addr 0003.a09f.5700
topology updated = No

*Jan 3 23:34:02.266: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000003
*Jan 3 23:34:02.930: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000002
*Jan 3 23:34:02.930: srp_forward_topology_map_packet: SRP12/0, len 13
*Jan 3 23:34:02.930: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000003
*Jan 3 23:34:02.930: srp_forward_topology_map_packet: SRP12/0, len 27
*Jan 3 23:34:04.194: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000003
*Jan 3 23:34:04.194: srp_forward_topology_map_packet: SRP12/0, len 13
*Jan 3 23:34:04.194: srp_input: pkt_hdr=0x0F002007, f£lags=0x00000002
*Jan 3 23:34:04.194: srp_forward_topology_map_packet: SRP12/0, len 27
ChS2 27t HEE ClH srp EER X[ 2R E of LCH.

*Jan 3 23:44:47.042: srp_input: pkt_hdr=0x0F002007,
*Jan 3 23:44:47.042: srp_forward_topology_map_packet:
*Jan 3 23:44:47.058: srp_input: pkt_hdr=0x0F002007,
*Jan 3 23:44:47.058: srp_forward_topology_map_packet:
*Jan 3 23:44:47.486: srp_send_topology_map_packet:

- Wrapped

*Jan 3 23:44:47.486: srp_send_topology_map_packet:

- Wrapped

*Jan 3 23:44:47.486: srp_input: pkt_hdr=0x0F002007,
*Jan 3 23:44:47.486: srp_consume_topology_map_packet:
*Jan 3 23:44:47.486: 0, src node_wrapped 1, src
wrapped, the node_wrapped bit should be one (1).

mac_addr 0000.5032.3037

mac_addr 0001.c9ec.d300
*Jan 3 23:44:47.486: 1,

flags=0x00000002

SRP12/0, len 20
flags=0x00000002
SRP12/0, len 20

SRP12/0 on side B

SRP12/0 on side A

flags=0x00000002
SRP12/0, len 34
!--- If the node is

src node_wrapped 1, src

*Jan 3 23:44:47.486: 2, src node_wrapped 0, src mac_addr 0006.d74a.£f900
*Jan 3 23:44:47.486: 3, src node_wrapped 0, src mac_addr 0003.a09f.5700
topology changed = No

*Jan 3 23:44:47.486: 0, src node_wrapped 1, src mac_addr 0001.c9ec.d300
*Jan 3 23:44:47.486: 1, src node_wrapped 1, src mac_addr 0000.5032.3037
*Jan 3 23:44:47.486: 2, src node_wrapped 0, src mac_addr 0006.d74a.£f900
*Jan 3 23:44:47.486: 3, src node_wrapped 0, src mac_addr 0003.a09f.5700
topology updated = No

*Jan 3 23:44:47.486: srp_input: pkt_hdr=0x0F002007,
*Jan 3 23:44:48.182: srp_input: pkt_hdr=0x0F002007,
*Jan 3 23:44:48.182: srp_forward_topology_map_packet:
*Jan 3 23:44:48.186: srp_input: pkt_hdr=0x0F002007,
*Jan 3 23:44:48.186: srp_forward_topology_map_packet:

flags=0x00000002
flags=0x00000002

SRP12/0, len 13
flags=0x00000002
SRP12/0, len 27



*Jan 3 23:44:49.362: srp_input: pkt_hdr=0x0F002007, flags=0x00000002
*Jan 3 23:44:49.362: srp_forward_topology _map_packet: SRP12/0, len 27
*Jan 3 23:44:49.362: srp_input: pkt_hdr=0x0F002007, flags=0x00000002
*Jan 3 23:44:49.362: srp_forward_topology _map_packet: SRP12/0, len 13
SRP FAQ

AR 1:SMIE EE SM FIE 21371 Qe SM RT3 E A& £ U&LITNEH: olL|. 12
Lt Rx ZEE 2HIE 29 gl =2 oflok s ElLiCt

. Bl 2: OC12 SRP 7}=2 0C48 SRP 7t=0f HAZE &= QU&LIIEH: obLch £ =7 Cf
E 80t olL|2} OC12E SRP A 18 AF25tE HHH 0C482 SRP H{A 28 At=2fLCt.

BB 3 EE FY HHO| L HEJF EAIELICH 27 EMZz2EH: =0 diE HE JtEZIe
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